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PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :

Choose the transcendental equation from the
following

(a) x*-1=0 b) x*+x+1=0
) =x=1 d e -1=0
Regula-Falsi method is also known as

(a) method of tangents

(b) method of false position

(¢) back substitution

(d) forward substitution

co

=1

If flx)=x ~x=1, then t2zing ~=° Aflzy=
(2) =x=2 ®y 2{x-1)

(c) 2z (& 2

Choose the wrong statement from e fnliswizg
() E=1+A ®) V=E"

(¢ 1-E*=¥ (&) S=E--E~-

If f(4)=1, f(6)=3. then the imuerpalatin:
polynomial is

() 3x-1 b)) x-3

(c -3 (d) 3x-2

Newton's b
when 1

(¢c) end

By evaluating | by numerical interpolation.
plex

we obtain an approximate valus of

() log} ® =

(© logg @ e
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10.

11.

Error in Simpson’s one third rule is of order

(@ & ®) n?
(© & d) 4hn

The order of the difference equation

yu*l _3.)'“ = 3'1 iS

(a) ®) o

© 1 d 3

The order = of the difference equation is
Yz — 2yn+l +Y, = 2" is ]

(a n+l1 Mb) 2

© n d n+2

no

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a) Using Newton-Raphson method, find correct
to four decimal places, the root between

0 and 1 of the equation x® —6x+4=0.
Or
(b) Solve the equations 2x+y+4z =12,
8x—3y+22z =20, 4x+11y-2z=233 by
Gauss-elimination method.

Page3 Code No.: 10071 E

12. (a) Provethat (A(fig)=/Ag: +gimAL).
Or
®) Evaluate A°[1-x)(1-2x2)(1-3+°)(1-4x")]

if the interval of differencing is 2.

13. (a) The following are data from the steam table :

Temperature°C : 140 150 160 170 180
Pressure kgf/cm? : 3.685 4.854 6.302 8.076 10.225

Using Newton’s formula, find the pressure of
the steam for the temperature of 142¢.

Or
(b) Using Gauss’s backward formula, find the
value of sales for the year 1966 given that
Year: 1931 1941 1951 19.61. 1971 1981
Sales: 12 15 200 27 39 52

dy dy at x=1.25 from the

14. Find == d
(a) n 7% an Tt

following values of x and y :
100 105 110 115
y: 1.00000 1.02470 1.04881 1.07238
Coa 1.20 1.25 1.30
y: 1.09544 1.11803 1.14017

Or
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X . 1 [T
W Use the tempezoidal wule with A - v w '
evaluate l (Wdx uaing the table below
ANN Q00 Q250 [UNIUY (LRI 100
SO QOIS QUTTARE 0T QeueT 0uasant
. . - \ )
@ Solve the diftorence equation.
Nor =Yy 2 Wy =0
18 @)
Qr
W) Solve wy e =G, + 0, =0,
a
PARTC - (3N 8 = 40 miarks) log
Answer ALL questions, choosing etther (@) ov (b)), Xh
log e
5, @) Determine the voot of ae' 8= Q correct to
three decimal places. using the method of
talse posttion,
K
Qv
B Solve by Gauss elimination procedure, the
equanions,
S LA = LGy + 3852 = 12,95,
2180+ 3 12y =28 = =861

=~ > Lo LI ) R OQ
A.020 #3090y + 2 15: = G888,
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Represent the function

oot e 20T S 80a +9 and its successive
difforences in tactorial rotation in which the
diforencing intovval i = 1.

Or

Obtain the function whose fivst difference is
o edat b2
Find log
for the following data:

S0

Y=

A37.5, by Laplace Everett tormuly,

320 330

>

QA8 01T 20051500 25185159
J40 RRIU 360

20014788 25440680 25363025

Ov

Prove Lagranges interpolation formula in
the torm

&)
=2 e

. where

Fd .. ]
‘:T' ¢ (x) ‘ .
dx |

M) =T =x) and ¢(x) =

r=Q
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9. () Using the following data, find ['(5).
3 4 T 4

p n 2
flad: 4 26 58 112 466 922
. . Or
(b)) Dividing the range into 10 egual parts, find
the approximate value of Ismza‘: by
(1) Trapezoidal rule (ii) Simpeon's rule
0. (a) Solve the difference equstion
.,“,.3'3)5.: -2}-. =0 grven - A =0 x =8
and y, =-2.
Or
(b) Solve the equatnn

- s
. g - z.a I3 Ik
)1-: "-vl!'l Dt“v‘

e AT LR I’

! . .':"



